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QUESTION 1

NewRocket requires a wireless capacity design 30 Aruba 510 APs will be connected to each wiring closet using
SmartRate connections. Wireless coverage needs to be provided even if a POE+ switch loses power

Because of security concerns, wired video cameras were recently installed throughout the facility. There are 12 of these
per floor. 6 per wiring closet. The cameras are 802.11n WiFi capable and have power injectors from which to draw

power.

Based on the POE+ needs of the mentioned devices, which solution would meet the POE+ requirements while still
providing a redundant and cost-effective Wi-Fi solution for the devices that require POE+ for Building 1, Floor 2?

A. One 3810M 40G 8 HPE Smart Rate switch
B. Two 2930F 24-port POE+ switches

C. Two 2930M 24-port POE+ switches

D. One 2930M 48-port POE+ switch

Correct Answer: D

QUESTION 2

A company is redesigning their wireless network and will be upgrading all devices to support the latest wireless
standards. The company is not near any radar installations. In order to keep wireless NIC power levels as low as
possible to reduce interference issues and to take advantage of radar frequency ranges, what IEEE standard should
APs support?

A. 802.11r

B. 802.11 ax

C. S02.11v

D. S02.11h

Correct Answer: B

QUESTION 3

A network architect is redesigning a wireless network. The architect begins by analyzing the number of spatial streams
supported by APs of various vendors as well as the wireless devices currently in the network, if the company wants to
ensure that new wireless design, including user wireless devices, support Multi-User MIMO (MU-MIMO). Which
standard or standards must the wireless products support?

A. Only 802.11ax and 8011.ac

B. Only 802.11ax
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C. Only 802.11ax,802.1lac, and 802.I1n
D. Only 802.11ax,802.11ac, 802.11n, and 802.11a

Correct Answer: C

QUESTION 4

A network architect is redesigning the access layer in a data center for a customer. The access layer requires fixed-port
switches that support VSF and data center features like L2 VXLAN and REST-API. Which switching solution should the
network architect recommend?

A. 8400

B. 3810M

C. 2930F

D. 6300

Correct Answer: C

QUESTION 5

A network architect needs to plan a new wireless network:
A. Central only

B. Airwave and Central only

C. Airwave, Central, Windows, Mac OSX, and Linux

D. Airwave, Central, and Windows only

Correct Answer: B
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